1.

RETFAN FAHR ASBE KA o1
ROMNCEZ L. 2 LaRH3EEL L, BN IcTs 2. (SHKk19, A2, B33 2558, C#s59)

(1) 2=V5+V2,y=Vs—-V2DLE, 22+ 3zy+1y> DRDfEZERD K.

(20 z2=V5+4V2, y=V5—-V2DEE, 224 3zy—4y? OXDfEERD k.
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2.

ROMNICEZ K. 7R UaRHE ML L, BAERERIcT2 28, (S#k19, Afh22, B33 258, C#s59)
(1) a=vV5—-V3,b=V6+V3DELE, a®>—ab+b> DRDfEZEKD k.

(2) a=V3+2V2,b=V3—-V2DEE, a®+ab—202 DRDOfEZRD k.
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RETALN FAR AHBE (KA 01 FEHEH
1. RORMICEZ K. 72 LaRhaaEL, RNEHEIcTs 2. (SHk14, A2, B35 258, C#%59)
(1) 2=V5+V2,y=Vs—-V2DLE, 22+ 3zy+1y> DRDfEZERD K.

53X =22 4+ 9%+ 3zy
=(@+y)’ —2ay+3oy  Hha?+y?=(x+y)? -2y
=(z+y)’ +ay
= {(VB4v2) + (VB V2 + {(VE+ VD) (V- V)
= @v8)’+ {(v®)’ - (v)}

=20+ (5—2)=23

(2 z2=V5+4V2, y=V5—-V2DEE, 2?4 3zy — 4y DRDOfliE KD X.

G =(z+4y) (z—y)
= {(V5+4v2) +4(V5-v2)} {(V5+4v2) — (VB - V2)}
= (VB +4v2+4v5 - 4v2) (V5 +4v2 - V5 +12)

=5v5 x 5v/2 = 25410
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2. RXOMICEZ X 2 UoREEYLL, BARERICT22 8. (ST, Atk29, B3 o258, C#k547)
(1) a=vV5—-V3,b=V6+V3DELE, a®>—ab+b> DRDfEZEKD k.

53X =a?+ b2 —ab
—(a+b)°—=2ab—ab <k a®+b2 = (a+b)%—2ab
= (a+b)* - 3ab
(V5= V3) + (V5 + V)L =3 {(V5 = V) (V5 +V3))
= (2v5)" =3 {(v5)" - (v3)’}

=20-3x(5—-3)=14

(20 a=V34+2V2,b=V3—-V2DLEE, a®>+ab—20*> DRDti%E KD k.

53 = (a+2b) (a - b)
—{(VB+2v3) +2(v3— VA }{(v3+2vD) - (V3 - V2)}
= (V3+2vV2+2v3-2v2) (V3+2V2 - V3+12)
=3V3x3V/2=9V6
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